
Тягово-сцепное устройство

999TEKLE1A00

Материал: Сталь

Сделано в России



СПИСОК ДЕТАЛЕЙ

Bolt M10x1,25х30

Nut M12

Beam

Bolt M12x1,25х40 4

2

1

Bracket

Bracket

Hook

Bolt M12x1,25х70

1

1

5

1

1

1Socket base

6

Washer 10G 6

Washer 10 6

Washer 12G 6

Washer 12 11

Installation manual

Болт M10x1,25х30

Гайка M12

Балка 

Болт M12x1,25х40 47

9

12

8

10

13

11

14

2

1

Кронштейн

Кронштейн

Крюк

Болт M12x1,25х70

1

1

5

1

1

1Подрозетник

6

Шайба 10G 6

Шайба 10 6

Шайба 12G 6

Шайба 12 11

Инструкция

 
?

 Max. vertical load: 50 kg

DATSUN

5,83хх
D=

D-value

9.81

1000
kN

2/7

LIST OF PARTS RUGB

1

2

3

4

5

6

7

9

12

8

10

13

11

14

1

2

3

4

5

6

№. №. QTY.PART NAMEQTY.PART NAME



5

7

3

9

11

13

14

1

2

6

8

10

4

12

5X     M122X     M12x1,25х70

6X 6X

6X    M10x1,25х30

6X12G 11X

10

4X

1X

1X

1X

1X

1X

1X

      M12x1,25х40

10G

12

3/7



6

10

11

2

4/7

Шаг 1

Шаг 3

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
47.0 N.m

FWD 

FWD 

FWD 



3

6

10

11

5/7

Шаг 6

Шаг 5

Шаг 4

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
47.0 N.m

FWD 

FWD 

FWD 



6

10
11

6

7

12

61011

9

13

1

6/7

Шаг 9

Шаг 8

Шаг 7

Шаг 8

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
47.0 N.m

FWD 

FW
D

 

FW
D

 



8
13

4
5

9

13

12

7

6
10

13

7/7

Шаг 10

Шаг 11

Шаг 12

Шаг 8

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
81.0 N.m

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
81.0 N.m

FWD 

МОМЕНТ 
ЗАТЯЖКИ
TORQUE
47.0 N.m


